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Fig. 10-18. Rash midiogmphy of
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The transfer of radionuclides to plants

1. Depositionon leaves and fruit

‘--"""_/_——- (if fruits are present)

2. Deposition onto soil and uptake

.
‘.‘1/ by plants through the roots

Figure 2. Schematic ilustration of radionuclide transfers to plants




When the neutron
collides with a
nitfrogen atom. a
nitrogen-14 (seven
protons, seven
neutrons) atom
fums into o
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Cosmic Radiation

Cosmic rays enter the earth’s
atmosphere and collide with an
atom, creating an energetic
neufron.

Plants absorb carbon dioxide
and incorporate carbon-14

through photosynthesis.

Animals and people eat
plants and take in

burial. woed and bones
lose C-14 as it changes
to N-14 by bela decay.

_Betadecoy . Nitrogen 14
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